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MEC-101 : MICROECONOMIC ANALYSIS
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Note : Answer questions from each Section as per

instructions given.

Section—A

Note : Answer any two questions from this Section.

2x20=40

1. (A) A consumer has the utility function over

goods x and y, u(x,y) =12x%y* . Let the

price of goods x be given by p,. Let the

price of goods y be given by Py and let
income be given by M.

(a) What 1s the slope of the consumer’s

indifference curve at the consumption
bundle (1, 1) ? 5

P.T.O.
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(b) Derive the consumer’s ordinary
demand function for goods x and y. 5

(¢ If we have p, =2, Py =2 and M = 24,
compute the utility maximising

consumption bundle. 5

Suppose the demand curve is given by
Q = 10 — P. What is the total consumer’s
surplus from consuming 6 units of the

goods ? 5
Explain that perfectly competitive markets
satisfy the conditions for Pareto efficiency ?

10

How does the wutility-possibility frontier

relate to the contract curve ? 6

State and discuss the first fundamental

welfare theorem. 4

Differentiate between static and dynamic

game. 8

What is an efficiency wage ? Explain the

concept of efficiency wage model. 12
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4. Consider the production function and the cost

function :

qp : ¢ = 50014 K34 C=WL+ rk,

where ¢ 1is the output, C 1s the cost, L 1s the

labour, K i1s the capital and W and r are the

wages and rental respectively.

(a)

(b)

(©

(d)

Device the profit maximizing level of factor
mputs (K & L). 6
Derive the cost minimizing level of factor
mputs (K & L). 6
Do the 2 sets of factor inputs (K & L) in
parts (a) and (b) same ? Explain. 3
Verify Shephard’s lemma from the cost
function. 5
Section—B

Note : Attempt any five questions from this Section.

5.

(a)

(b)

5x12=60

What 1is the difference between a
homogeneous and a  differentiated
oligopoly ? 6
A monopolist is able to separate two
markets. In one market the demand can be

expressed as Q1 = 14 — P;1. In the second

P.T.O.
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market, the demand is Q2 = 20 — 2P». Let
the monopolists’ marginal cost (MC) be ~ 4.
Derive the equilibrium output level and
profit of both the markets under price

discrimination. 6

“The excess capacity is inversely related to
the price elasticity of demand faced by
a  monopolistically competitive firm.

Explain. 6

Which characteristic of the perfectly
competitive market is responsible for the

long-run equilibrium condition of P = min.

LAC? 6

A duopoly faces an inverse demand curve
P = 160 — 2Q. Both the firms in the
industry have constant cost of ~ 10 per unit
of output. In Cournot equilibrium how

much output will each duopolist sell ? 6

Discuss the important features of the

Shapiro-Stiglitz efficiency wage model. 6
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(b)
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10. (a)

(b)
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When can you have efficiency in production
and in consumption and yet there is still
room for a Pareto improvement ? 6
Explain the concept of moral hazard

through suitable example. 6

In games of imperfect and complete
information when would you consider
backward induction procedure ? 4
You have assets of * 10,000 and are facing a
loss of * 3,600 with a probability of 0.002.
You are indifferent between paying * G for
Insurance protection and assuming the risk

of loss personally. You value total

assets of amount w >0 according to
the utility function u(w) = Jw .
Determine G. 6
Explain the concept of Independence
Axiom of choice under uncertainty. 2
Explain Prisoner’s dilemma game with the
help of an example. 5
Explain the mixed strategy of the game. 7

P.T.O.
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11. (a) Interpret the “Single-crossing” assumption
in the context of education and cost of low

ability workers. 6

(b) Explain the concept of perfect Bayesian

equilibrium. 6
12. Write short notes on any three of the following :
4 each
(1) Different types of price discrimination
(11) Cobweb model
(111) Pooling and separating equilibrium

(iv) Bilateral monopoly
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